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,58 0

20+ 0

32
A4

Lg=630cd/n?

TES531-6N_7

L/AL luminance contrast
sensitivity threshold

40T X Yy  experiment:
0,34 0,40 KR 0,1s A,Y

30+ Y 0,45 0,47 average
0,15
0,58
0,25

,19
20+

32
A4

0
0
0
0

Lg=630cd/n?
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L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40KR0,1s A
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

Lg=63cd/n?

TE530-1N_8
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 BM 0,1s A
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,
20T © 0,250,

Lg=63cd/n?

TE530-3N_8
L/AL luminance contrast
sensitivity threshold
0T X Y experiment:
A 0,34 0,40KR 0,1s Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T = 0,25

Lg=63cd/n?

TE530-5N_8

L/AL luminance contrast
sensitivity threshold
0T X Y experiment:
A 0,34 0,40 PO 0,1s B
30+ Y 0,45 0,47 average
0,15 0,19

0,58 0,32

20T < 0,25 0,44

Lg=63ca/n?

TE530-7N

TUB-test chart TES3; threshold dakaramopolos (89
presentation time tp=0,1s, 4 observer

L/AL luminance contrast
sensitivity threshold

40T y  experiment:

A 0,40 PO 0,1s A

Lg=63cd/n?

30--

201

L/AL luminance contrast
sensitivity threshold

40T experiment:
,40 AD 0,1s A

{ I
30 9 I

Lg=63cd/n?

201

L/AL luminance contrast
sensitivity threshold

40T y  experiment:
40 AD 0,1s Y

Lg=63cd/n?

30--

201

L/AL luminance contrast
sensitivity threshold

40T y  experiment:
A 0,40 AD 0,1s B

Lg=63cd/n?

30--

201

TE530-8N_8

L/AL luminance contrast
sensitivity threshold

40T experiment:

,40BM 0,1s R

Lg=63cd/n?

30--

201

TE531-1N_8
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 AD 0,1s G
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,3
20T © 0,25 0,4

Lg=63cd/n?

1

y 2
4

TE531-3N_8
L/AL luminance contrast
sensitivity threshold
40T X experiment:
A 0,34 0,40 AD 0,1s A,B
30+ Y 0,45 0,47 average i!
0,15 0,19
0,58 0,3
20T < 0,25 0,4

Lg=63cd/n?

1

2
4

TE531-5N_8
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 AD 0,1s A,G
30+ Y 0,45 0,47 average i!
0,15 0,19
0,58 0,3
20T © 0,25 0,4

Lg=63cd/n?

1

y 2
4

s, average, 63cd/

L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 AD 0,1s R
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T © 0,250,44

0
0
0
0

TE531-2N_8
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34
Y 0,45
30T 0,15
0,58
20T © 0,25

0,47 average
0,19
0,32
0,44

Lg=63cd/nf

0,40 AD 0,1s A,Y

TES531-4N_8

L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34
Y 0,45
30T 0,15
0,58
0,25

’ /47 average
19 1
,32

A4

(0]
(0]
,58 0
20+ 0

Lg=63cd/n?

0,40 AD 0,1s AR

TE531-6N_8
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34
Y 0,45
30T 015
0,58
20T 0,25

/47 average
,19
,32
44

0
0
0
0

Lg=63cd/n?

0,40 KR 0,1s A,Y
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L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40KR0,1s A
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

Lg=6,3cd/n?

TE530-1N_9
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 BM 0,1s A
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,
20T © 0,250,

Lg=6,3cd/n?

TE530-3N_9
L/AL luminance contrast
sensitivity threshold
0T X Y experiment:
A 0,34 0,40KR 0,1s Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T = 0,25

Lg=6,3cd/n?

TE530-5N_9

L/AL luminance contrast
sensitivity threshold
0T X Y experiment:
A 0,34 0,40 PO 0,1s B
30+ Y 0,45 0,47 average
0,15 0,19

0,58 0,32

20T < 0,25 0,44

Lg=6,3cd/n?

TE530-7N

TUB-test chart TE53; threshold daaramopolos (89)
presentation time tp=0,1s, 4 observer

L/AL luminance contrast
sensitivity threshold

40T y  experiment:

A 0,40 PO 0,1s A

Lg=6,3cd/n?

30--

201

L/AL luminance contrast
sensitivity threshold

40T experiment:

,40 AD 0,1s A

Lg=6.3cd/n?

30--

201

L/AL luminance contrast
sensitivity threshold

40T y  experiment:
40 AD 0,1s Y

Lg=6.3cd/nf

30--

201

L/AL luminance contrast
sensitivity threshold

40T y  experiment:
A 0,40 AD 0,1s B

Lg=6.3cd/nf

30--

201

TE530-8N_9

L/AL luminance contrast
sensitivity threshold

40T experiment:

,40BM 0,1s R

Lg=6,3cd/nf

30--

201

TE531-1N_9
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 AD 0,1s G
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,3
20T © 0,25 0,4

Lg=6.3cd/nf

y 2
4

TE531-3N_9
L/AL luminance contrast
sensitivity threshold

40T X experiment:

A 0,34 0,40 AD 0,1s A,B

30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,3

20T < 0,25 0,4

Lg=6.3cd/nf

1

2
4

TE531-5N_9
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 AD 0,1s A,G
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

Lg=6.3cd/n?

1

0

0,1
0,3
0,4

y 2
4

TES31-7N_9

input: w/rgb/cmyk —> rghy

s, average, 6,3cd/@utput: no change
Y

L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 AD 0,1s R
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T © 0,250,44

0
0
0
0

TE531-2N_9
L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 AD 0,1s A)Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44

Lg=6.3cd/nf

TE531-4N_9
L/AL luminance contrast

sensitivity threshold
40T X Y experiment:
A 0,34 0,40 AD 0,1s AR

30+ Y 0,45 0,47 average
0,15 0,19
0,58
0,25

Lg=63cd/nf

58 0,32
20

0
0
0
0,44

TE531-6N_9

L/AL luminance contrast
sensitivity threshold
40T X Y experiment:
A 0,34 0,40 KR 0,1s A)Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58

20T © 0,25

Lg=63cd/nf

0
0
58 0,
25 0,44

b
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